This question paper consists of 19 questions [Section-A (17) + Section-B (1+1)] and 15 printed
pages.
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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the question paper.

2. Please check the question paper to verify that the total pages and total number of questions contained
in the booklet are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the answer-book or writing roll number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Booklet Code No. 34/ISS/2, Set [A] on the answer-book. _

5. (a) The question paper is in English/Hindi medium only. However, if you wish, you can answer in

any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
.Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
answer-book.
(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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ACCOUNTANCY
[GICIE
( Principles and Practice of Financial Accounting )

( Foxfra e & fagra wd saaEr )

(320)
Time : 3 Hours | [ Maximum Marks : 100
T ;3 =S | [ quif : 100
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(ii) All questions from Section ‘A’ are to be attempted.
(iiij Section B’ has got more than one option. Candidates are required to
attempt questions from one option only.
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SECTION-A
Gus-3H
1. Give the meaning of ‘Expense’. 2
‘=’ 1 o7 T
2. Define the term ‘Debit Voucher’. 2
EleRtivclicafe it i RS 1l
3. What is the objective of preparing ‘Bank Reconciliation Statement’? 2

‘o wmram faeer’ a9 =1 F 19g BY
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4. Give any two examples of Deferred Revenue Expenditures’, 2

‘Tafii 2 S % hIE &t IS i |

5. State the meaning of ‘Sacrificing Ratio’. 2

‘R YA I A TR

6. Explain the following functions of Financial Accounting : 3
(a) Recording of business transactions
(b) Calculation of business income

(c) Communication of business income and position
forefr Q@i % et @t A sren AR

() AR oieAT 1 @l AT

(@) =i TR 6l TOET BT

(1) =EETgE A" wa fefd w5 wrw

7. Give the meaning of ‘Dual Aspect Concept’ in about 30 words. 3

‘f§-vge] HebouAT w1 219 AT 30 wisat § i

8. Calculate the Cost of Goods Sold from the following information : 3

» Rs

Net Purchases 24,000

Direct Expenses 2,500

Opening Stock 5,000

Closing Stock 4,000

7 g1 @ 99 e AT A AT J1d RIS

o

& A 24,000

iy =g 2,500

TR wiaa 5,000

i~ Tl 4,000
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9. A firm has Rs 80,000 as its annual profits and the rate of normal profit is 10%.
The assets of the firm are Rs 5,00,000 and the liabilities Rs 2,00,000.

Calculate the value of Goodwill by capitalisation method. Show your
calculations clearly.

UF G O dibe @y 80,000 %o %lﬂmwwﬁa{ 10%%|r5ﬁaﬁlqﬁwcrﬁm
5,00,000 %o TH FaT 2,00,000 %o |

dsferor fafer & wenfa & qeg 6 o FfSw | o @ e w9 g gy

10. Enumerate any three items of accounts which the representative of a deceased
partner is expected to bear.

@t 1 el o et it B or P e e T ¥ whiffn ) ae e a3

11. On 31st December, 2006, the total liabilities of Aditi were Rs 40,000 and her
capital was Rs 1,00,000. Complete the Accounting Equation with four probable
assets with imaginary amounts.

31 fagwer, 2006 ® Affd & Fa @AT 40,000 Fo oM I Gt 1,00,000 Fo off|
forrdt = et wftaeatoei o |1y sreaties TiET o o gefie i gt A

12. The bank account in your ledger shows a debit balance. What will be the effect
of the following transactions in your Pass Book balance? Give reasons also :

(i) Cheque issued but not presented in the bank for payment
(ii) Dividend collected by bank on our behalf
(i) Insurance premium paid by bank on our standing instructions

(iv) A customer directly deposited a cheque in our bank account

320/ISS/112A : 4
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13. Give the meaning of Issuing the shares at a premium’ and state the purposes
for which the amount of share premium can be utilised. 5

‘e W afger W it W oot AT a3 wEeHl w aase Sk foe st
sifbrerm =61l 1 R S a2

14. You have been recently appointed as an assistant in the Accounts Department
of a business. The owner of the firm gives you the following information and
asks you. to prepare relevant Accounting Vouchers on the basis of this
information. Prepare relevant Accounting Vouchers : 10

2007 , :
January 5 Commission received by Cheque No. 0057592 of Andhra
Bank Rs 1,000

» 12 Amount withdrawn for personal use by Cheque No. 0523256
Rs 1,500

» 20 Amount deposited into bank out of day’s cash receipts
Rs 5,000

» 30 Goods sold to Sanjay on credit Rs 800 vide Bill No. 051

I BT € H UF HaEE o o faim § wend & w9 1 g fe e 21wl & e A
Wﬁmwﬁ%awmww%mwmwﬁwwmﬁ%mm
2| SIEY ohET THO SAIET

2007

SHeft 5 30T de % 9% qo 0057592 R FHITE 1,000 Fo U fhA

» 12 st ymm & fg 9 9o 0523256 g 1,500 %o et

» 20 fe o gmg i W Te o= Al F @ 5,000 Fo i wlyt d T s HY

» 30 | & 800 Fo I WA foed Fo 051 I IUW <=
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15. Shri Ashok Kumar is a merchant. The following Trial Balance was extracted
from his books on 31st December, 2006. Prepare Trading and Profit & Loss
Account for the year ended 31st December, 2006 and a Balance Sheet as on

that date :
Dr. Balance Cr. Balance
Rs Rs
Cash in Hand 22,800 —
Purchases and Sales 1,56,200 3;25,000
Sales Returns 2,500 ——
Carriage on Purchases 1,100 —_
Fuel and Power 3,900 —
Stock (1.1.2006) 28,210 —
Buildings _ 1,25,000 —
Debtors and Creditors 72,000 13,500
Capital — 2,00,000
" Investments 40,000 —
Interest on Investments — 4,000
15% Loan —- 20,000
Repairs 790 —
Machinery 82,000 —
General Expenses 10,400 —
Provision for Bad Debts —— 2,100
Wages 19,720 —
Miscellaneous Receipts — 20
5,64,620 5,64,620

Additional Information :

(i) Write off Rs 1,000 as Bad Debts and provide for Doubtful Debts at 5% on
debtors

(i) Loan was taken on 1lst May and no interest has been paid so far

(i) Included in general expenses is insurance premium Rs 1,000 paid for one
year ending 31st March, 2007

(iv) Closing Stock was valued at Rs 30,000

320/ISS/112A 6
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%o %o

BEIE Tehel 22,800 e
w7 g 1,56,200 3,25,000

forsr st 2,500 —

FI W AT 1,100 =

$u wd Tt 3,900 £

Tf@r (1.1.2006) 28,210 o

o 1,25,000 —
ER T R 72,000 13,500
kSl — 2,00,000

fafam 40,000 —
fafm w == — 4,000
15% =m0l - 20,000

O 790 P

Tefidt 82,000 -

R Y 10,400 —
YT RO ITTHSH — 2,100

EEC 19,720 —
fafay orfeat . - 20
5,64,620 5,64,620
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16. Avani Limited issued 250 shares of Rs 20 each to Aditi at a discount of Rs 2 per
share. Aditi failed to pay the final call of Rs 3 and her shares were forfeited.
Later on, the company had the option to reissue 150 shares at a price of
(i) Rs 15 and (it) Rs 25.

How will you record the forfeiture and reissue of shares in the books of the
company in each of the above cases? - 10

serft feafide 4 20 %o a1t 250 2w wfafy @t 2 %o wfa 31w g w Fifia for) stiefa 3 %o
=i sifaw areEn Al 1 PTaE wE § Ehe W oadn 6 I A Sed H o ™ aE §
FE J 3§ 150 A w F gea w @it w5 w fbwed

(i) 15 %o T (ii) 25 %o

Sulh geden feufa & ey weoet ot qedet 8 39 w1 Sed @ aen [ we e o
forg wepm i ? '

17. A and B are carrying on business, sharing profits and losses in the ratio of
2 : 3. Their Balance Sheet on 31st December, 2006 was as under :

Liabilities Rs . Assets Rs
Sundry Creditors 24,870 | Cash at Bank 25,270
Capital Accounts : Sundry Debtors v 11,000

A 68,100 Stock 36,000
B 68,100 1,36,200 | Furniture 8,800
Buildings 80,000

1,61,070 | 1,61,070

On that day, they admit C into partnership and give him one-third share in
future profits on the following terms :

(i) Stock and Furniture are to be reduced in value by 12-5%
(ii) Buildings are to be appreciated by Rs 15,000
(ti) A provision of 5% is to be created on Sundry Debtors for Doubtful Debts

(iv) C is to bring in Rs 80,000 as his capital and Rs 40,000 as goodwill which
sum is to remain in the business

Prepare Revaluation Account, Partners’ Capital Accounts and Opening Balance
Sheet of the new firm. ' _ 12

320/I1SS/112A 8



OR

The following was the Balance Sheet of A and B as at 31st December, 2006 :

Liabilities Rs Assets Rs
Creditors 20,000 | Plant 40,000
A’s loan 10,000 | Patents 6,000
General Reserve 10,000 | Stock 25,000
Capital Accounts : Debtors 19,000

A 30,000 Less :
B 25,000 55,000 | Provision for
Bad Debts 1,000 18,000
Cash 6,000
95,000 95,000

A-and B shared profits in the ratio of 3 : 2. On 1st January, 2007, the firm was
dissolved. A took over the patents at a valuation of Rs 5,000. The other assets

realised as under :

Goodwill
Plant
Stock
Debtors

Rs
15,000
30,000
22,000
18,500

The Sundry Creditors were paid off at a discount of 5%. The expenses of

realisation came to Rs 3,500.

Prepare Realisation Account, Partners’ Capital Accounts and Cash Account to

close the books of the firm.

AT B WIgERl § SUR Sel © 8 a9 2 ;3 % UM § Av-giH afed 21 31 famew,

2006 =1 31 feurfa-faemo fm o

agard %o yfgrafaar %o
fafae o er 24,870 | &% | Aehel 25,270
ekl fafaa a1er 11,000
A 68,100 whmr 36,000
B 68,100 | 1,36,200 | %f=R 8,800
o 80,000
1,61,070 1,61,070
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(i) W& ® 15,000 %o @ gfg #E B
(iii) fafae Semt w afey = & fow 5% &1 yEu™ w6 2

(iv) C @1 Ysft & &9 § 80,000 Fo Tl TAMI & 40,000 Fo @M 8| T & Tl =R |
it

g AT, EiEEl o g @rd a9 75 wH o e - foater dam A

AT
31 femrer, 2006 %1 A 91 B =1 feufa-faawor o gem o .

Eorcl (e %o gftgrqfaar ¥o
RGN ‘ 20,000 | @& - 40,000
A T T/ 10,000 | = (922) 6,000
A 9 10,000 | wfe=n 25,000
IS @ 3ER 19,000
A 30,000 27 ¢ 3T R/0T
B 25,000 55,000 F fore
BICRIES 1,000 18,000
Fehal 6,000
95,000 95,000

AT B 3:2 % AT W @i & dfed 21 1 SHadt, 2007 F FH F GHO B WA A
5,000 %o % Yod T T (Te2) &l o foran | gudt afwraf & e aeet 6 -

%o
Tt 15,000
LSDF| : 30,000
e 22,000
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SECTION-B
Qus—d
OPTION-I
[EETSM
( Analysis of Financial Statements )

( Farefror Forarevit a1 Forgeon )

18. (a) Calculate Gross Profit and Net Profit Ratios, when—

Operating Expenses—Rs 50,000
ol TTH TF I, @9 AT el TTUHT iU, se—
fasa—5,00,000 %o 2
TeRdl T il WA W 25% 7
e =9—50,000 %o 2
(b) The Current Ratio of a company is 2 : 1. State, giving reasons, which of
the following transactions would (i) improve, (i) reduce and (iii) neither
improve nor reduce the current ratio :
(1) Sale of old machinery for cash
(2) Sale of goods for cash
(3) Purchase of goods on credit
(4) Receipts from debtors
(5) Payment of dividend
T HEOH A A A 2 0 1 g wRU e g @arsy fR Fefafea aedt | =
ST W (i) AR B, (ii) FH A TS (i) T GAR, T FH @00
(1) gt mefe 1 7ehe T
(2) HIA T Aehg T
(3) HIT o1 38R shd
() 3aRt @
(5) TTHI H I
320/ISS/112A 11 [ BT0,
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(c)

From the following Balance Sheets of Shrey Ltd., prepare Funds Flow

Statement for the year ending 31st December, 2006. Show your working

clearly : 10
Liabilities 31.12.2005|31.12.2006 Assets 31.12.2005|31.12.2006
Rs Rs Rs Rs
Equity Goodwill 57,500 45,000
Share Capital 1,50,000 | 2,00,000 | Land & Building 1,00,000 85,000
12% Debentures 75,000 50,000 | Plant 40,000 1,00,000
Share Premium 3,000 4,000 | Current Assets 1,41,000 | 1,78,500
General Reserve 17,000 31,000
Profit &
Loss Account 15,000 24,000
Proposed Dividend 21,000 25,000
Current Liabilities 57,500 74,500 )
3,38,500 | 4,08,500 3,38,500 | 4,08,500
Additional Information :
(i) Depreciation on Plant—Rs 10,000
(i) Profit on sale of Land—Rs 10,000
3y fafiee & i feafa-foerot &t wemar & 31 feawmr, 2006 =1 wmw 29 ad
a4 & foru sry-vare foarer dar s st moEreTt i e ' 9 9 eyifzu
3gqTd 31.12.2005| 31.12.2006 gftgrafaar 31.12.2005| 31.12.2006
To %o %o o
|HAT 3 gSi 1,50,000 | 2,00,000 |wfa 57,500 45,000
12% ZRoT9H 75,000 50,000 | 91 wa W& 1,00,000 85,000
191 Hiftay 3,000 4,000 | &= 40,000 1,00,000
" T4 17,000 31,000 | =me] wFdterEl 1,41,000 | 1,78,500
-1 @I 15,000 24,000
AT ATHI 21,000 25,000
EIGEHIR ] 57,500 74,500
3,38,500 4,08,500 3,38,500 4,08,500
AR Ty :

(i) ®FF T 10,000 Fo FH Hed B2
(i) afr % o & 10,000 o T T T2 B

320/1ISS/112A
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OPTION-II
IEET S|

({ Accounts of Non-trading Organisations )

( TR-zaruTiier GET3T o W )

18. (@) From the following particulars of Gurgaon Club, show the amount of
salaries to be posted to the Income & Expenditure Account for the year
ending 31st December, 2006 :

Amount

Rs
Salaries paid during the year 2006 50,000
Salaries due in the current year 2,000
Salaries due in the year 2005 1,500
Advance salaries paid for the year 2007 6,000
Advance salaries paid last year for the year 2006 10,000

e Ffel o HEfcTiad faewen @ 31 e, 2006 # e 2N etk 9 & fo e
aﬁa@m—m@ﬁﬁ%aﬁﬁ@éaﬁaﬁrﬁﬁmaﬁﬁm:

afer
. EO
2006 T4 & TR YA o T ga= 50,000
EISELE: R G ‘ 2,000
2005 a9 7 27Ed dad 1,500
2007 @9 & fou qded I 6,000
faat ad 2006 a¥ & fow ydew aa 10,000

(b) Differentiate between Receipts & Payments Account and Income
Expenditure Account on the following basis :

(¥
(%)
(i)
(W)
(v)

Nature

Side

Closing Balance

Capital and Revenue items

Objective

320/ISS/112A 13
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(i) St

(ii) 9

(it) AT\ I

(iv) ST TE AT wE
(v) I

(c) From the information given below and Receipts & Payments Account of
Rotary Club, prepare an Income & Expenditure Account for the year
ending 31st December, 2006 : 10

Receipts & Payments Account
for the year ending 31st December, 2006

Receipts Rs Payments Rs
To Balance b/d ‘ 3,000 |By Salaries 1,600
»  Entrance Fee 6,300 »  Printing & Stationery 560
»  Donations 1,500 »  Advertising 1,680
»  Subscriptions for » 10% Investments 12,000
2005 360 (on 1.1.2006)
2006 9,000 »  Expenses on
2007 240 Entertainment 1,500
» Rent received for the » Balance c/d 5,160
use of hall 2,100 '
22,500 22.500

Additional Information :

(i) Assets on 1.1.2006 included Building Rs 18,000; Furniture
Rs 4,500; Subscription in arrears Rs 480

(ii) Salary Outstanding is Rs 400

(iii) Subscription in arrears for 2006 is Rs 500 and Rent Receivable due
is Rs 300

(iv) Depreciation is to be provided @ 2% on Building and 10% on
Furniture

320/1SS/112A | 14



Tett Faa il Fe gEamstt @ wiy @ gTaE @ % ar | 31 e, 2006 @@
T B e 9 & fore -2 mrEr qar i |

IfH Tq YA @it
31 fegFaR, 2006 %I GHTH a9 F forw
i %o P %o

AN Y 3,000 |dd 1,600
BENRE] 6,300 | ffem wa v 560
| 1,500 | fagmo= 1,680
T 10% faf=mT (1.1.2006 %) | 12,000
2005 99 & fou 360 | TS W Y 1,500
2006 T4 % fog 9,000 | s1f<m o 5,160

2007 a8 & fou 240

RGBS IERETE] 2,100
22,500 22,500

HTARE GTY -

(i) 1.1.2006 %! qf@rfEi 8 ; 9o 18,000 Fo; HI=R 4,500 Fo; 316 Twal 480 %o
(ii) ¥ daq 400 Fo ¥

(iii) ¥ 2006 F fAU ew T=1 500 To qUT YW B vl fFAT Few 300 Fo B
(iv) W W 2% ¥ TF ek W 10% © Yed g T &
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